FST 2-6 Worksheet Name

1) A rock is thrown upward from the edge of a 50 m cliff overlooking Lake Superior,
with an initial velocity of 17.2 m/s.

1
h= ——-2—gt2 + vt +h,, where g = 9.8m/sec’

a) Write an equation that models the height % of the rock in terms of time ¢.
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b) Predict the height of the rock at 4 seconds.
he =4[ + 2.2 (%) + o
|h = 4o, 4m

¢) At what time will the rock hit the ground?
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a) Set up the system of equations
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b) Write the matrix equation.
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c) Solve the matrix equation. Write the equation for the parabola.
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